B> h 8 A 8ph1m8 2014 1S (-) 54 S FEL 4T jag

B gy A

1 32 (x+2)°y" —(x+2)y' +y=3x+4
2. #FfE: x(L-x)y"+2(1-2x)y'-2y=0

3. FfE: xy"+(2x+)y'+(x+1)y=0

4. % s y()=e* H AR Xy +2(L-X)Y +(X—=2)y=0 2z fEriE R Azt 2

i

5. el pd Rird FAHE SN my+cy+ky=02 ¢ FE m=10kg> &5
¥ fic k=90kg/seC’ » 4 445 ¥1 4= 4 B A B 5 y(0)=0.16 ¥ y(0)=0 - @

ReF PR G > HE@H NI P? T yt)=? THFETtEH -
(1) ¢=100 kg/sec (2) c=60 Kkg/sec (3) ¢=10 Kkg/sec

TiRE

1. y(x)=c,(x+2)+c,(x+2)In(x+2) +g(x+ 2)[In(x+2)])* -2

1 1
2. y(x)=c +C
YO =6 — 7+
3. y(x)=ce ™ +c,eInx
4, y(x):clex+czleX
X

5.(1) y(t)=-0.02¢ +0.18¢"
(2) y(t)=(0.16+0.48t)e™
(3) y(t) =e " (0.16c0s2.96t + 0.027sin 2.96t) = 0.162e** cos(2.96t —0.17)
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